7 X 426

B 8 e I A X 5
=~ ¥ A

=

a5
H B|FR 30 % 9 B 28 H
/\E%,ﬁ ,~|:|T§EJ 413 = "I:I’?

HERERE 407 5

T
¥EZ30E9H28EI LR E
H

#= 1

\‘/’,/

_RFrRIL

250 500 m
125000 ———

[COMEG, B ERROKBEST. ARRTOEFIIE R T
25000 HLI-EDTHD, (RRBE S T2915E. $3128)

BAREZRODIEEI[ERBOEE .

X = FE F|-1006

X B o % #IkT.22 .

X & 0 Fr & BEEERXEHS)IRTE

&
W
.,
1) N
" -
- : ;
W
\
\
\
(\‘\-C’
e
S
s,
N

T

&

i}
33

i

0 50 100m/

: :
// 1:2,500 /
UILLSIIISSSSEL L L L PR eb et /.

TR K ERRIE R X

(@) :(DIZEQli~§qﬂ3§:;’ﬂﬂ%l:$éiﬂﬁ2I:\ilﬂlll FORBRERE L LD ChY. —BEH->CRASBENDHIEST .
FHLE EREFHFICE RS,



e TRKEFEMREFHRER (FILVER)
I = 5 7 ; e T
EES Brs | T2 | 0 EiEM [HHEXEHS)IRTEH




+

TR FHRER

B 41 _ | FAZERE | Fmk30E2528H
BHHES | 1-1006 | &ms R 22 | e [#EEXENS/IERTHE
T — — - —
SAESZR NSRRI @\ N L7
3 e BUIE N0 | U
:iux X ____ (:] BB kN/m m k\&ﬂ /? % /
Ei@sﬁ% 100kl\I/m2é'—i‘Ei%>|Ziﬁ - 103.9 10 D \}
\ il ZOMMORE, ] 1000 | 1.0 . )
) _— ‘ // 3 il 19 ‘
= L TR B 18
= AR / I8 e 16,1
§ - — — BEAR ﬁ —
L/ \;Zi ﬁ
f LR /

IRTFRRIL

(]
7 i S
i !
F S S
4 — K
. —
i
- ; " 'rr
f y 7 P
g 4
£ S i/
> _\
L
S N
NN ;
o > 3 -..
VA
¢ s
b
s’ \/ /
3
N\ o
\'v Z y.
4 7
Y,

0

I 'm
1:2,000
PR AV AP AP A AV SV A A e F R SN NN N R




THKE

TR FHRER

Bt 4—2 _ | _SREfEE | FHS0F2H28H
EH#ES | I-1006 | & | T 22 | At [#EBKEZme )R T

amessr )\

\

\

"\

=)

)

7

] WHRIZKDHhD
¢4 B
: THREERRE (:] RAfE kN/m?
1 HIEEH3ImE
TREKE HB25XE [:] 19.9
YRRk X 15
- )

e

N ARAVIIRLN

S A N\ /4
ST REOHEILD AN

- T ImER Z SO hELEIRE
1R 5 L:\\/.i—-///
- - REAR

IRFERIL

I

RTREA

=

Ly
NS

/
/




